## UCLA Department of Mathematics

tians

Page	1	of	11
------	---	----	----

## Midterm 2

Spring 2015

Student information

First name:

Last name:

Student UID:

**Discussion (circle one):**  $2A \mid 2B \mid 2C \mid 2D \mid 2E \mid 2F$ 

		Grade Table		
Course ID:	MATH 33B	Que	stion	Score
Course title:	Differential equations	1		/5
Instructor:	Aliki Mavromoustaki	2		/5
Date	11 May 2015	3		/10
Date.	11 May 2015	4		/15
Exam duration:	50 minutes	5		/15
Number of pages: (including this cover	11 pages sheet)	Σ		/50
(				
Exam Type:	Closed Book			
Additional				
Materials Allowed:	No			

1. (5 points) Given that y = x is a solution of:

$$(x^{2}+1)y'' - 2xy' + 2y = 0, (1)$$

find a linearly independent solution by reduction of order.

Note: you may use appropriate formulas.

The eqn in SF is:  

$$y'' - \frac{2 \times y'}{x^2 + 1} y' + \frac{2}{x^2 + 1} y = 0$$

$$P(x)$$

$$y_1 = x \text{ is a solution.}$$
The second solution takes the form
$$y_2 = V(x)y_1 \quad (D)$$

$$Where \quad V(x) = \int \frac{1}{y_1^2} \cdot exp[[-P(x)dx]dx. @$$

$$\int \frac{2 \times y}{x^2 + 1} dx$$

$$e = \chi^2 + 1 \quad (3)$$

Page 2 of 11

MATH 33B, 11 May 2015, Midtern 2  
(3) in (2): 
$$v(x) = \int \frac{1}{x^2} \cdot x^2 + 1 dx$$
  
 $v = x - \frac{1}{x}$   
In (2),  $y_2 = x(x - \frac{1}{x})$   
Hence, a linearly inclep. Soln is:  
 $y_2 = x^2 - 1$ 

2. (5 points) The functions  $y_1 = t^2$  and  $y_2 = t^3$  are two distinct solutions of the initial value problem: ť

$$x^{2}y'' - 4ty' + 6y = 0, \quad y(0) = 0, y'(0) = 0.$$
 (2)

Why does this not violate the uniqueness theorem?

In SF, Eq. (2) 15:  

$$y'' - \frac{4t}{t^2}y' + \frac{6}{t^2}y = 0$$
with  $P(t) = -\frac{4t}{t^2}$  &  $Q(t) = \frac{6}{t^2}$ .  
for Miqueness, we need  $P(t), Q(t)$   
to be cartinuous over an interval  
containing the initial pt (have,  $t_0 = 0$ )  
Initial pt  
Since P, Q are not cant: around  $t = 0$ ,  
the fact that  $\exists 2$  distinct solute the uniqueness  
the IVP, doern't visitive the uniqueness  
thm.

3. (10 points) Consider the following differential equation for logistic population growth with harvesting:

$$\frac{dN}{dt} = rN\left(1 - \frac{N}{K}\right) - \lambda N \tag{3}$$

where r, K and  $\lambda$  are positive constants. For the following cases, compute the critical points, determine their stability and sketch the equilibrium and some non-equilibrium solutions.

- (a)  $\lambda < r;$
- (b)  $\lambda = r$ .





4. (a) Find the general solution of

$$y^{iv} - 4y''' + 14y'' - 20y' + 25y = 0,$$

if the corresponding characteristic equation has the following roots

$$1+2i, 1-2i, 1+2i, 1-2i.$$

Note that y = y(x) and  $y^{iv}$  represents the fourth order derivative with respect to x.

(b) Using the method of undetermined coefficients, set up the correct form for a particular solution  $y_p$  to the following nonhomogeneous differential equation:

$$y^{iv} - 4y''' + 14y'' - 20y' + 25y = e^{2x}\sin(2x) + e^x\cos(2x).$$
(4)

Note: do not solve for the undetermined coefficients.

(a) 4th order LOPE. The roots of the  
characteristic polynamial give:  

$$m_1 = 1+2i$$
,  $m_2 = 1-2i$ ,  $m_3 = 1+2i$ ,  $m_4 = 1+2i$   
Since  $m_3$ ,  $m_4$  ove repeated, we multiply the  
carresponding solns by  $x$ :  
 $y_h = e^{i}(sin2x+c_2cos2x) + xe^{i}(c_3sin2x+c_4cos2x)$   
Where  $c_1-c_4$  are arbitrary real constants.  
(b)  $f(x) = e^{ix}sin2x + e^{ix}cos2x$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_3$   
 $f_4$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_3$   
 $f_4$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_3$   
 $f_4$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_2$   
 $f_3$   
 $f_4$   
 $f_2$   
 $f_1$   
 $f_2$   
 $f_3$   
 $f_4$   
 $f_2$   
 $f_4$   
 $f_2$   
 $f_4$   
 $f_4$   
 $f_5$   
 $f_5$   

Page 9 of 11

 $y_{f} = e^{2x} (A \sin 2x + B(6x2x) + e^{x^2} (C \sin 2x + D \cos 2x))$ 

5. (a) Using the method of variation of parameters from first principles, **show** that the equation y'' + y = f(x) leads to the particular solution:

$$y_p(x) = \int_0^x f(t) \sin(x-t) dt.$$

(b) Find a similar formula for a particular solution of the equation  $y'' + k^2 y = f(x)$ where k is a positive constant.

(a) 
$$y^{11}+y=f(x)0$$
 has as a part autar soln of the  
fam:  $y_{p}=V_{1}(x)y_{1}+v_{2}(x)y_{2}0$  where  $V_{1},V_{2}$  are  
Walknam nonconstant functions. (necessary  
 $V(x),V_{2}(x)$  satisfy:  $y_{1}V_{1}'+y_{2}V_{2}'=0$  (3) assumption)  
Using (3),  $y_{p}^{1}$  is:  $y_{p}'=V_{1}y_{1}'+V_{2}y_{2}'$  (4)  
and  $y_{p}^{11}$ :  $y_{p}''=V_{1}y_{1}'+v_{2}y_{2}'$  (4)  
Sub. (2)(9.26) in (1) and rearranging:  
 $V_{1}(y_{1}'+y_{1})+V_{2}(y_{2}'+y_{2}) + y_{1}'v_{1}'+y_{2}'v_{2}'=f(x)$  (5)  
Since  $y_{1,y_{2}}$  are solution  
to the harrog. obt.  
(3.6) are 2 indep eqns for  $V_{1}',v_{2}'$ .

. . .

Page 11 of 11

from (3), 
$$V_2' = -\frac{V_1'Y_1}{Y_2}$$
  
In (3):  $V_1'V_1' + Y_2' \left(-\frac{V_1'Y_1}{Y_2}\right) = f(x)$   
 $V_1' \left(\frac{V_1'Y_2 - Y_1Y_2'}{Y_2}\right) = f(x) \Rightarrow V_1' = \frac{f(x)Y_2}{Y_1'Y_2 - Y_1Y_2'}$   
(9)  $V_1 = -\int \frac{Y_2f(x)}{W(x)}dx$   
From (3),  $V_2 = \int \frac{V_1f(x)}{W(x)}dx$  (5)  
 $\frac{10000g. solv:}{Y_1 + Y = 0} \Rightarrow chor. eqn: m^2+1=6$   
 $Y_{12} = C_1 \frac{cosx}{Y_1} + C_2 \frac{snx}{Y_2}$   
 $W(Y_1,Y_2) = 1. In (3), (3)$   
 $V_1 = -\int \frac{Sinx}{V_1}f(x)dx$  and  $V_2 = \int \frac{cosx}{V_2}f(x)dx$   
where note that constants of integration out lynared  
 $W(266 \text{ st we can write:}$   
 $V_1 = \int \frac{x}{Sint}f(x)dx$  and  $V_2 = \int \frac{cost}{S}f(x)dx$   
 $W_1 = \int \frac{x}{V_1} \frac{V_1}{V_2} + \frac{V_2}{V_2} \frac{V_1}{V_2} + \frac{V_2}{V_1} \frac{V_1}{V_2} + \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} + \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} + \frac{V_1}{V_2} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} + \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} + \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_2}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_2} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_1} \frac{V_1}{V_2} \frac{V_1}{V_1} \frac{$ 

Page 12

Sunday, May 17, 2015 9:39 PM

Therefore, yp is:

Using the boxed eqns above in Yp:  
Yp = 
$$\int_{0}^{\infty} f(t) [sint cosx + cost sinx] dt$$
  
Using the sine difference formula:  
Yp =  $\int_{0}^{\infty} f(t) [sin(x-t)] dt$  as required.  
(b) Y" + k<sup>2</sup>y = f(x).  
The homog. solve is : Yh = C\_1 cosk x + C\_2 sink x  
W(Y, H\_2) = k  
Hence,  
Y\_1 =  $\int_{0}^{\infty} sinkt f(t) dt$  and  $Y_2 = \int_{0}^{\infty} cosk t f(t) dt$ 

midterm 2 solns Page 24

 $y_p = \frac{1}{k} \int_0^{\infty} f(t) \left[ Sink(x-t) \right] dt$ 

## Midterm 2

Spring 2015

Student informat	ion				
First name: Student UID:	Last name: Discussion (circl	e on	e): 2A  2]	B   2C   2	2D   2E   2F
			Grade Ta	able	
Course ID:	MATH 33B	Que	estion	Score	
Course title:	Differential equations	1		/5	
Instructor:	Aliki Mavromoustaki	2		/5	
Date:	11 May 2015	3		/10	
Exam duration:	50 minutes	4		/15	
Exam quiation.	50 minutes	5		/15	
Number of pages: (including this cover	11 pages r sheet)	Σ		/50	
Exam Type:	Closed Book				
Additional Materials Allowed:	No				

1. (5 points) Given that y = x is a solution of:

$$(x^2 + 1)y'' - 2xy' + 2y = 0, (1)$$

find a linearly independent solution by reduction of order.

Note: you may use appropriate formulas.

Page 3 of 11

2. (5 points) The functions  $y_1 = t^2$  and  $y_2 = t^3$  are two distinct solutions of the initial value problem:

$$t^{2}y'' - 4ty' + 6y = 0, \quad y(0) = 0, \quad y'(0) = 0.$$
<sup>(2)</sup>

Why does this not violate the uniqueness theorem?

Page 5 of 11

3. (10 points) Consider the following differential equation for logistic population growth with harvesting:

$$\frac{dN}{dt} = rN\left(1 - \frac{N}{K}\right) - \lambda N \tag{3}$$

where r, K and  $\lambda$  are positive constants. For the following cases, compute the critical points, determine their stability and sketch the equilibrium and some non-equilibrium solutions.

(a) 
$$\lambda < r$$
;

(b)  $\lambda = r$ .

Page 7 of 11

4. (a) Find the general solution of

$$y^{iv} - 4y''' + 14y'' - 20y' + 25y = 0,$$

if the corresponding characteristic equation has the following roots

$$1+2i, 1-2i, 1+2i, 1-2i$$

Note that y = y(x) and  $y^{iv}$  represents the fourth order derivative with respect to x.

(b) Using the method of undetermined coefficients, set up the correct form for a particular solution  $y_p$  to the following nonhomogeneous differential equation:

$$y^{iv} - 4y''' + 14y'' - 20y' + 25y = e^{2x}\sin(2x) + e^x\cos(2x).$$
 (4)

Note: do not solve for the undetermined coefficients.

Page 9 of 11

5. (a) Using the method of variation of parameters from first principles, **show** that the equation y'' + y = f(x) leads to the particular solution:

$$y_p(x) = \int_0^x f(t)\sin(x-t)\,dt.$$

(b) Find a similar formula for a particular solution of the equation  $y'' + k^2 y = f(x)$ where k is a positive constant.

Page 11 of 11